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jhs;  : jkpo;r; nrk;nkhopg; gz;Gfs;                                   Neuk; : 2 kzp
gFjp – m
midj;J tpdhf;fSf;Fk; tpilaspf;f.                                      5X2=10
1.nkhop vd;why; vd;d?
2.jpuhtpl nkhopfs; vj;jid?
3.nkhopf; FLk;gq;fs; vd;why; vd;d?
4.n[h;khdpa FLk;gk; vk;nkhopf; FLk;gj;ijr; rhh;e;jJ?
5.fyg;G nkhop vd;why; vd;d?
gFjp – M
midj;J tpdhf;fSf;Fk; tpilaspf;f.                                      4X5=20
1.jkpopd; rpwg;gpay;Gfis vOJf.
2.jpuhtplk; vd;Dk; nrhy; Fwpj;J tpsf;Ff.
3.nkhopapd; Njhw;wk; Fwpj;J tpsf;Ff.
4.,yj;jPd; nkhopf; FLk;gk; gw;wp tpsf;Ff.
gFjp – ,
midj;J tpdhf;fSf;Fk; tpilaspf;f.                                      2X10=20
1.jkpopd; njhd;ik Fwpj;J tpsf;Ff.
2.jpuhtpl nkhopf; FLk;gq;fs; Fwpj;J lhf;lh; - fhy;Lnty; $Wtd ahit?


